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Choose the correct answer:

5. .. ;
1) f(x)= -3%:_—2 is discontinuous at x =

A-1  B)2 0)1 D) —2
2) }l_r)r.}o cos™1 :x-_24) =
s A s
Ay-= B)> 0-% D)3

i x3_1
3)f(x)={ P ek

is continuous at x = 1
—x?+2x+1, x>1

A) True B) False

continuous is k =

-2 ,x=k
A) —1 B)1 C)2 D) -2
5)Ify = x3e* — 8, theny' =
A) (x3 — 3x?)e* B) (x3 + 3x)e*

C) (x3 + 3x?)e* D)(x? + 2x)e*

6) The function f (x) = x% + x + 1 has a 4 in the interval [1,2].

A) True B) False
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DIfy= @x—1)3, then y' =

A) -3(2x - 1) B) - 6(2x — 1)?
C)6(2x — 1)? D)3(2x—1)
8) DZ°(sinx) =
A) — cosx B)cosx C) sinx D) — sinx

NIff(x) =2 then f'(0) =

4) -1 B) 2 c)-2 D)1

10)The-equation of the tangent line to f(x) = 3x2 — 4 at (1,-1) is:

A)y=6x—-7 B)y=—-6x-1
C)y=—6x+1 D)y=—6x—7
11) (e‘6") =
A) — 36e76% B)6e~6% C) — 6e~6% D)36e~6%

[ﬁlf y = sec?(4x), theny' = 4sec?(4x) tan(4x)
A) True B) False

I\}f)'If y = secx cotx, theny' =
A)cscx cotx B) — cscx cotx C)cscxtanx D) — cscxtanx

w2 -1 a4y,
14)Ify =t* and L, then

A) -t (t+1)? B)t (t + 1)2
C)—t(t—1)> D)t (t — 1)2

Scanned with CamScanner



BIE fO) = hig(y)),g(2) = 1, (1) = 6 & g'(2) = 4, then f'(2) =

A) - 24 B)24 C)12 D) —12
16)y = cscx secx, theny =
A)cscx (tanx — cotx) B) secx(tanx — cotx)
C)cscx secx(tanx — cotx) D) — cscx secx(tanx — cotx)

17) The slope of the tangent to the curve x* y = 3 at the point (1,3) is
A)—9 B)9 0)6 D)—6

18)If In(2x +y) = 7x* + 3, theny' =
A)ldx(x+y)+2 B)1 + 12x(x —y)
C)12x(x + y) D)14x(2x +y) — 2

19)If y = logs(secx) , theny' =
cotx cotx tanx tanx

~ In5 In5 e D) =gy

3
20)If y = 3x% — 4x% + 4x, then = () =
A)0 B)18 C)18x D)9%x

. @)Ffy = x**~2, theny' = x**~? 22 4 Inx
: X
A) True B) False

eX—e™%

22)lim =
x=-0 X ‘
A) -1 B)2 0)1 D) -2
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2 . _
23) The absolute minimum of f (x) = 3x3 — 2x on [-1,8]isy =
A)0 B)5 )1 D)—4

24)The value of c of f(x) = f(x) = 4 + vx — 1 in the interval(2,5) such

that f'(c) = LEL@

Vi3 V13 13 Lo
VI3 Vi3 13 =
) 2 B) 2 2 4 5 :

25)'([)11'e value of ¢ of f(x) = x2 + 9 in the interval [—1,1] such that f'(c) =
is

A1 B)3 C)-3 D)0

26) The absolute max;j =3 -3 '
maximum of f(x) = x3 — Exz +1lon[-22]isy =
A)3 B) -3 )4 By =4

A)(—=o0,-1) U (0,1) B) (-1,00u (1, o)

28) The point of inflection of the function f(x) = —X_ 3¢ x =
x%-1 -
A) -1 B) —11 C)0 D)1

29) The graph of f( x) = f(x) =2+ 3% - 2x2 on the interval (—2,2) is

A
) concave up B) concave down

30) The graph of f(x) = siny on the interval (7, 2m) is

A) concave up B) concave down
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31) The set of critical numbers of f(x) = 4

35) ijdx———+c

~ A)True

DE-12,12) 5y 0T o@D D) (—VIZD
A) True B) False
51
33) | cos(Z)dx =
-L 0S (5) 4
A)0 B) 3 )4 D) -3
34) f csc? (—35-6-) dx =
A) COtS(E) +c B) 5cot (g) +c
¢ (%
C)—zg(—S)-H D)—Scot(§)+c

B) False
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36) | sin(x)dx =
J

A)3 B) -3

37) f sec(2x) tan(2x)dx =

) — sec§2x) s
0) sec(2x) o

38) f csc (g) cot G) dx =

A) — 4csc G) +c

C) 4csc (%C) +c
39) f(Zx —1)*dx =
A)—51(2x—- 1)5+¢

1
C)E(Zx— 1)5 + €

4‘0) /e‘x dx =

A)e~% B) —e~2%x

C)—2 D)2

B) 2sec(2x) + ¢

D) — 2sec(2x) + ¢

B) — %4(.‘56‘ (g) + G

D) %4CSC (g) +c

B) — —(Zx 15 +¢

D)—(Zx— 15 +¢

C)e™ D) —e~*
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? Complete:

41) The critical number of f(x) = f(x) = 4x% + 4 1§ covvrereesrer ™™
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1,8] IS cevvnneernrnmnerees
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43) f(x) = = + sinx in the interval (0,2) has local MINIMUM 8t X =+ceverenssss

------
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) The cvitical number of FOX) = X"-X s .
2) F(YJ = X=X Was L°Cﬂ»l Mmwmum at X-=

3 The valie of ¢ of Foe xUyia in e ivdenad (4,0 sd b
F\(c)=o 15

) The inter val on hich FO) =\ (1-\(") s kcrcqsiuj OM oo

5) Verify Rolle’s Theorem For the faedion Fx)= <w 2x [0,1%]

6) | bedp dx -
%) S—L—, dy -

¢) The Point of inflectin of the Funcion o _ X ok x-

-\

a) -\, b 4 S d) o

a) Thc 3Y¢Ph OF Fog: 3 £t \2¥*-3x  ow *\'\QV\\U\IAL (0/2) 1S
0) (onCoNe uP ») Gew@Ve down

) | @ 4%)>dxs



~Ahe Valwe oF € in Polle's Aucorem F =@ sivx mAhe dwpevval [o1] s

o) 3& B’T% Q) 7{{ D)

. the C(;h'al fﬂ;'l“ Fex)z 7x 48 Vs

A} -1 %) %— ) wow of these Q) ol) veod wu-loor

The absoltc mimimum of Foa: 25 _gx ow {_e,z] (E% B

a) b b) -2 <)2 D) -8
Fo - L"L'\?’ (% (" "C"‘"“‘a
(,\’ \3 (AP o)V q ,-s)
(= Ayo (et (-1,\)
4. X adryx 4%y _
d x%
a 120 B) 66 x ) Gex 132 d) o

“The \la.‘“‘ 0‘: C n ,Ueau Vn.juc ‘“u.(°VQh Fov FLY):I- ;3 " ('/3){5
o) V3 v) -3~ <) 3 4)-3

(L n (Rag) o5 then :\\i:ﬁ e GaM-FO

W o w

o) |- 2%(x+Y) W \& 2¥ (x43)

Q) 2x(x4Y) d) 2x(x+Y)-|

F(xy - [%3 \s Cawr\w sus
a) A W= 2 ) -e

/

d) 2y



